= A
N = 0 &8 AFH Y & A AN
20009 &= =& 2 3 LUFH =T AE A
SA AEAEA
HE: ALCALBR
S OIE2dsE ANE2Y (e &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
LT ALY A 13,150,345 12,991,694 158,651
=2 2,998,000 2,998,000 0
= 780,818 780,818 0
2 35,225 35,225 0
[ 24,845 24,845 0
2 9,311,457 9,152,806 158,651
A C AL 1,309,526 1,279,110 30,416
=2 780,818 780,818 0
< 24,845 24,845 0
2 503,863 473,447 30,416
ll2a2c Ald2Y 1,309,526 1,279,110 30,416
=2 780,818 780,818 0
[=4 24,845 24,845 0
2 503,863 473,447 30,416
oteacc Sx2e 215,863 185,447 30,416
101 Q14 H 416 0 416
1021222 HsE84 416 0 416
ODIS&4+E 2S2%4=g oy
34,6102 * 30! * 42 416 0 416
401 AlEHIZ =20 96,500 66,500 30,000
01 Al&HI 96,500 66,500 30,000
Ollg&s+z gAA=I WA
4,000,0002 * 304 A 12,000 0 12,000
OZA A0S &S AMESA
18,000,0008 * 14l 18,000 0 18,000
sl 2e 5,732,589 5,735,354 A2,765
=2 2,998,000 2,998,000 0
2 2,734,589 2,737,354 A2,765
=0 E D26t HUALY 4,312,429 4,283,000 29,429
=2 2,998,000 2,998,000 0
2 1,314,429 1,285,000 29,429
AS HHOIRI R SOHEOIS64+E HHIALY 641,000 665,000 A24,000
=2 448,700 465,000 A 16,300
2 192,300 200,000 AT7,700
401 AlEHI 2 =200Y| 641,000 665,000 A24,000
=2 448,700 465,000 A 16,300
2 192,300 200,000 AT,700
01 Al&HI 636,962 660,811 A23,849
O SHOX 7 sHE OtS2ot=% ALY
AT 636,962,0008 * 14l 636,962 660,811 A23,849
=2 445,873 465,000 A19,127
2 191,089 195,811 N4, 722
03 Al & 2 THH 4,038 4,189 A 151
OaSHOIX? sOHE OISote=E HUAIY 2
il A 641,000,000& * 0.6299% 4,038 4,189 A 151
=2 2,827 0 2,827
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el SOE OISt FHIAY (Sl & &)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2

| = 1,211 4,189 N2,978

8% SMXF sHEOISGHE ZHIAMY 1,056,000 937,000 119,000

= 739,200 656,000 83,200

= 316,800 281,000 35,800

401 Al HIZ 201 Y] 1,056,000 937,000 119,000

= 739,200 656,000 83,200

= 316,800 281,000 35,800

01 A& HI 1,052,199 931,097 121,102

OHASURF sHE OtSot=% HHIAE

2 & 1,052,199,000& = 14 1,052,199 931,097 121,102

= 736,539 656,000 80,539

a 315,660 275,097 40,563

03 Al S THHI 3,801 5,903 22,102
OG&ZERNT sHE OtSdt=% HUIAMY 2

CHHl Z & 1,056,000,000& * 0.3599% 3,801 5,903 22,102

= 2,661 0 2,661

= 1,140 5,903 N4,763

AN 22X sHEDNSot=E HHIALS 994,429 1,090,000 A 95,571

= 696,100 763,000 A 66,900

s 298,329 327,000 A 28,671

401 Al HIZ 2018 994,429 1,090,000 A 95,571

= 696,100 763,000 A 66,900

s 298,329 327,000 A28,671

01 A& HI 988, 165 1,086,076 A97,911

OZAHME2EXNT sHE OtSdt=% FHIAMIY

2 & 988,165,000& * 14! 988, 165 1,086,076 A97,911

= 691,716 763,000 NT1,284

ia 296,449 323,076 A 26,627

03 Al S THHI 6,264 3,924 2,340
OZMNMEEXNT sHE OtSot=% HUIAMY 2

CHyl 2 & 994,429,000& * 0.6299% 6,264 3,924 2,340

= 4,384 0 4,384

a 1,880 3,924 A2,044

AMBE WsSKT sHEOS ot+=& FHAY 20,000 0 20,000

401 Al HIZ 201 Y| 20,000 0 20,000

01 A& HI 20,000 0 20,000
OANBUHSXF sHEONSSt=E FHAME &

A Hl 30,000& = 666.662m 20,000 0 20,000

SMEMRF sHENSoH=E EHIALE 10,000 0 10,000

T AIEHIR R0 10,000 0 10,000

1T AIZHI 10,000 0 10,000
OSMZLRT sHENSStE ZHAME &

A Hl 30,000& = 333.3332m 10,000 0 10,000

22 OtSct=5 HHISA 1,319,601 1,351,795 A 32,194

St=% HHl 666,421 626,421 40,000
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Belr A Ot2ot=% EHISA (Sl & &)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
401 AIEHIZ 2 I 666,421 626,421 40,000
01 A& dl 662,500 622,500 40,000
O2xn20tsdt=S & HI S At
2 & 662,500,000& * 14! 662,500 622,500 40,000
NS OtEOIE sHEDI2 ot% EHl S At 559,600 597,124 A37,524
401 AIEHIZ 2 I 559,600 597,124 A37,524
01 A& HI 557,476 595,000 A37,524
OMSOtEX 7 =0 EDS ot FHIAY
& 38 557,476,000& = 14 557,476 595,000 A37,524
ot=k =4 17,580 52,250 A 34,670
401 AIEHIZ 2 I 17,580 52,250 A 34,670
1T A28l 17,580 52,250 A 34,670
OAE DISol=E E43A
d 3 17,580,000 = 14 17,580 52,250 A 34,670
Heas(=cAgA) 6,108,230 5,977,230 131,000
= 35,225 35,225 0
[ia 6,073,005 5,942,005 131,000
WEAHHXI= 6,108,230 5,977,230 131,000
= 35,225 35,225 0
[ia 6,073,005 5,942,005 131,000
a4 SIEXNE dES 3,480,175 3,349,175 131,000
401 AIEBIZ S CHYI 0 412,250 AN412,250
01 A€ HI 0 412,250 N412,250
OsHEXNL e IHEAS 33 0¥ 0 412,250 N412,250
404 SIS =l ES 2,355,050 1,811,800 543,250
01 BIILEEIHIMENES 2,355,050 1,811,800 543,250
OsOHEXNL =LA
412,250,000& * 14 412,250 0 412,250
ONASE sSUHS==2HE XIEAY
131,000,000& = 14 131,000 0 131,000




